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(1) Answer any three questions from Sectton I
(2) Section ll is compulsory -

(3) Marks are mdlcated on the rlght side of the questlons

SECTION -1
1.
a. Briefly di‘s'cuss' the‘qualit'ati‘ve'a'hdvquantitati'\./.e methods Q_sed for foreua:{ng demand.
o o e (4 marks)
b. The t;abl_e'beléw 'sHow‘svthé nﬁonfhly demand '6vef16‘rﬁonth_peri§‘r,5§ for é'proauét.' " (6 marks)
Demand (units) — 20 : 1301 ; 11?} SETTE 11b 550
i.. Determine the forecast of demand . for hé:'-/'fh month using. >’_'3v rﬁonth" simple- moving
’.‘average method : P : o | C »
i If the weightage glveﬁ fo‘r the d' .dnd for 6, 5"‘ and 4™ months are 0.5, 0.3 and 0.2
respectlvely, determme the fore cast for 7" month usmg welghted moving average method.,
iii. - Whnch ofthe two fqrecasts i5 rﬁore r_ehablev usmg thev MSE crlterlon? : .

‘a. ‘ What are the différent»i;‘»")és of capacity? Ekplain each with ‘example. [T © (4 marks)

b. Process ‘A’ and ‘B’ ’arf- both capable of manufactunng a product whose comparison are as

“follows - o Xt 7 o R . (6 marks)
Pafticuléri S el Process ”A’f . P}chss B
Investhent T [Rs 50000~ -_ T s, 80,000/-
’lr{ta‘.'e'st on Capifai invested ‘ 1 15% pebr a_nn.um. » .' i : 15% per a_nnuf_n
‘ “Hourly Charges (Wages + . Rs 10/-' - . .- |Rs 8v/—v
( Power) : o
Nﬁ of pieces produced per : .5 = I 8 .
hour : ' ' '
Annualoperatvinvg.hours. A '2.000‘ =5 . = | 2600_
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Y Wh,ich process will have the lower cost per unit of output,v if run for the whole year? :

il.” If only 4,000 pieces are to be produced ina year whlch machme would have the lower cost

) per piece?

iii. "Will your answer to (i) above query if you are mformed that 12. 5% of the output of promss
B gets rejected at the mspectlon stage? If so, what would be the new solutlon?

Explaih the process bf line balancing
Calculate the followmg from the glven data -

i Lme efﬁcnency

'ii. Balanced Delay '

. il Mmlmum number of theoretlcal work stations requured

(4 marks)

(6 marks)

Task 7 ._ — T a b c f g H —’
Immediate Predecessor | - Ca TN b c -] f&e
TaskTime - | 2 | 12 1.55 | 25 20 |30 | 20
. § ; | : ‘ !
S

4. How uoes OopPC - functlon change in thlee WQes of productlon? Explam with. reference to -the

a.

b.

dlfferences in the three types of" pl’OdUCth " (10 marks)
5. -Write short note on any two of the foilowmg— (10 marks)_
Rough Cut Capamty Pla nnmg
Lean Manufacturing
Categorizatlon of Sennce Systenlis :
T
- S_Ec,noN -n
(15 marks)‘
,:A boat company has a demand forecast for its s&t;_boats foLthe next 6 ‘months as shown
“below: St
Month January February Mal'c.h' ; A_pril : May . - June
Demand g 25(_)‘ 300 230 560 | 610 580
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Currently there are 10 workers assigned to the productlon line each capable of producmg 15
bowm_gﬂh Itis assumed that each month has equal number of productron days. Hiring
‘cost worker is Rs. 400. 00 and termination cost is Rs. 1,000. 00. Standard production cost is' Rs..
300.00 and overtime- cost is addrtronal Rs. 60.00. Each worker can produce only 3 boats pc. o
e~ —_— —
month on over time. If the boats are held in stock, mventory holclmg cost is Rs 6 00 per boat per‘
month Shortage cost is Rs. 120 00 per bmt per month : : ’

< i Usmg this. data set up a chase approach for plannlng and calculate total cost. af chase i
' 'approach : : . . : :

. Usmg the given data set up a level approach for plannmg and work oct fotal cost of level
approach

(15 marks)

ol shop said: "Why bother
“about productlon plannmg and control? Most of it consnsts of too muth paper work, which has little

When asked to. express hlS opinion, a foreman in charge of a machln\

" bearing on reality. In.our firm each foreman responsrble for a section gets h|s instructions once a
- month together.wrth dr,awmgs of the parts to'be machined.

hen the foreman's responslbllrty to
do all the rwaw within hi§&ection. When each task is finished, the
production.department is notlfled If the parts have tos dergo additional operatlons in another
nsfer the. parts to that sec section: If not; the
‘parts wait until the next date for monthly allocatmn:of tasks. The system is’ smooth and’ ethcnent -
and it works

section during the same month an order is issued to't

Suppose \,'ou were assmned the tarkf of ’mll 'zmg the present system in order to determine its’
effectlveness. How would you set about dol
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